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QUESTION 1

A volume on a FabricPool-enabled aggregate is consuming 10 TB of the performance tier and 90 TB of the cloud tier. A
SnapMirror copy needs to be created on a FabricPool- enabled peer cluster at a disaster recovery location. 

In this scenario, how much data is transferred when the SnapMirror relationship is initialized? 

A. 100 TB 

B. 200 TB 

C. 10 TB 

D. 90 TB 

Correct Answer: A 

 

QUESTION 2

You have a SnapMirror relationship established between two sites and want to verify that the data on the DR site is
usable without disturbing the source. In this scenario, which three steps are required to accomplish this task? (Choose
three.) 

A. Resynchronize the destination to the source volume, then update the source volume. 

B. Resume the SnapMirror destination, then updatethe SnapMirror destination. 

C. Quiesce the SnapMirror destination, then break the SnapMirror destination. 

D. Reverse the SnapMirror source and destination, then re-initialize SnapMirror. 

E. Configure the destination volume for data access, then access thedata volume from a client. 

Correct Answer: ACD 

 

QUESTION 3

You are deploying amission-critical business application for a healthcare customer that, according to government
policies and regulations, requires zero data loss. In this scenario, which NetApp solution enables you to set up data
replication at a volume level to satisfy your business needs? 

A. MetroCluster 

B. SnapMirror-Synchronous 

C. SnapShot Copies 

D. SyncMirror 

Correct Answer: B 
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QUESTION 4

Your DevOps team reported that one virtual machine on a VMware datastore has been corrupted due to a ransomware
attack. In this scenario, which two methods would solvethe issue? (Choose two.) 

A. Restore the Snapshot copy of the volume from ONTAP System Manager. 

B. Restore the VM using SnapCenter Plug-in for VMware vSphere. 

C. Restore the datastore using SnapCenter Plug-in for VMware vSphere. 

D. Clone thevolume\\'s Snapshot copy prior to the attack, mount, and storage vMotion. 

Correct Answer: CD 

 

QUESTION 5

You want to modify the existing Snapshot copy schedule to allow for more granularity in your ability to recover data after
a corruption or loss. In this scenario, which two tools allow you to accomplish this task (Choose two.) 

A. OnCommand System Manager 

B. OnCommand Unified Manager 

C. NetApp SnapCenter 

D. ONTAP CLI 

Correct Answer: BD 
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